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(19, 18, True): {&: 8.5, 1: -8.8414059933000000057]
(15, 18, False): {@: -1.8552020P000288882, 1: -8.8816559875975512%,

(28, 8, False): {@: ©.8528, 1: -B.5625},

(22, B, False): {@: B.8, 1: 8.8},

(18, 4, False): {@: ©.488, 1: -8.75},

(22, 4, False): {@: 8.8, 1: 8.8},

{14, 3, False): {@: B.62, 1: -8.75},

(23, 3, False): {&: 0.8, 1: .8},

(13, 7, True): {8: -8.02000200B8000880018, 1: 8.8},
{18, 6, False): {@&: -8.875, 1: -8.81999%3995909590597}
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Player's | Dealer's upcard when ace is not usable | Dealer's upcard when ace is usable
Hand [ ['1', ‘2%, '3', ‘&', '5', ‘', '7°, '8', ‘9%, 'A'] | ['1', ‘2%, '3', ‘&', 's', ‘&', '7', '8', ‘s’ 'A']
R T R P B SR T
O B T T S S B U SRS U B _ _ T _ _ ]
4 | ['H', "H', ST, UST, CHY, HY, HY, CHY, ST, CHUT L -, -ty -, P T AFTRE |
S| LTH', CHY, THY, CHY, THY, THY, THY, ST, ST THTT [ [T, et ety e e e e e, e ]
6] ['H', 'S'. 'S'. 'H'. CH. MY, CH'. ‘s om W | D- _ _ IR _ _ ]
7OLLTST, ST, HY, CHT, THT, CHT, THT, CHY, ST, CHTT [ [T-T, teT, e, e, e, et e, et T, ]
8 | ['S', H', 'S'. 'st. ts'. o tHt. 'HU, ‘st oML sl | [t-ts -, -t P S |
9 | ['H', 'H'. H'. 'H'. 'H'. 'S, H. 'R, ‘st W ['- _ _ T _ _ ]
1@ | ['s', "H', CH', ST, CH', ST, ST, CHY, CHY, CHUT L [U-t, ety ety ety et e et e et ]
T | DH', CHYL CHYL CHL CHYL R THTL USTL TSt THU] | [eta teth et oot ororl el e il el I
12 | ["H', “HY, 'S', 'ST, CHY, 'S, 'S, 'S, CHY, CH'D1 | [CHY, ST, ST, 'S, CHY, 'S, CHY, 'S, CHY, CH']
13 | ['H', 'S, THY, ST, OTHY, CHY, OTHY, ST, HT, CHUTO|[UHY, CHY, THT, CHY, HT, CHY, CHY, OTHY, CHY, TH']
14 | ['S', "H'. CH', CH', CH', 'S'. HUL CH'. CH, CH'] | ['HY. CH'. 'S'L 'S, 'st, ‘s, W', 'H'. 'R, 's']
15 | ['H', 'H', "H', 'S’, CH', 'S', 'H', CH', 'HY, 's'] | ['S’, 'H', 's’, 'S, 'H', 'S', 'H', 'S', 'H', 'H']
16 | ['s", 's', "H', 'H', 'S', "W, 'S', 'H', 'Ss', 's'] | ['s', 's", 'W', 'S', 'S', 'H', 'S, 's', 'S', 'H']
17 | ['s*, 's', 's', 'S, 's', 'S', 'S', 'H', W', 'S'] | ['W', 'S", W', 'S', 'S', 'H', "H', 'S’, "W, 's']
18 | ["H', 's', 's', 's', 's', 's', 's', CH', CH', 's'1 | ['s’, 'H', ST, "H', 'H', 'S', 's°, 'H', 's’, 'H']
19 | ['S', "H'. 'S’ 'S, 'S', 's', 'S, 's'. 'st, 's'] | ['S', 'H'. 'S, W', 'H', 'S’ 's', 's'. ‘st 's']
28 | ['s', 'S, 'S, ST, 'S, 'S, 'S, 'S, 'S, ST | [CHY, CHY, CHY, 'S, 'S, ST, 'S, 'HY, 'S, 'HY]
21 | ['s", 's", "'s", 'H', 's', 's', ‘5", 's5', 's5%, 'S'] | ['s', 'H", 's", 'H', 'H", 5", 5", 's", 's", '5']
Average payout aFter‘ 1860 rounds is -148.6

Aul¥iEZ e Rk T 1000 S HE A 0 B R AT AT o BMBRF IR V&Y X
ol frRA AR R FEEL > F Lz B o
% 1 2k XLtk
TR B R Y R
3R ¥ -400 -100 -140

=
T
=
Vo
Ja
.
[u}
I
-

S

>
>

=
T

R ER Pk

BEARGE O B LB Y T E R AR DGR RI L it - e
21;%#7’?%%11::\%@4&3 TR R AR L P B e ¥tk 2t R ARG
He "y r 2 fcr WA AR 292 A 2984 double fo split =

Teix ’?-ﬁf‘éiﬁﬂ’“ PR iR fiIE s ik d o F R TR AR AT 0 P
Fil4er B PR T REN amF=ZrP AR 4768k

A\
v
—\\

TRt g e A B AT B A nE R E Ll bR B3
¥ % 300 f# state > Fpt# 4 g * Q learning ki {7 5 % state KE F K 3EAF
PSR Y FRBCEY » B LM Sppaprs Rz < 04 -

,

El

= (

(L)

o

~

$3F

https://curiouscoder.space/blog/machine%20learning/teaching-a-computer-blackjack-

using-reinforcement-learning/
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https://www.semanticscholar.org/paper/The-evolution-of-blackjack-strategies-
Kendall-Smith/9f910a5b3f03ff21a09f2df319chc3705ee005ad
https://pathmind.com/wiki/deep-reinforcement-learning
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